
SHEATHING

AIR / VAPOR BARRIER

2X6 WOOD STUDS, SEE
STRUCTURAL FOR SPACING

SHEATHING

PREFORMED ANODIZED
ALUMINUM VERTICAL OPEN
OUTSIDE CORNER REVEAL

SELF-ADHERING ASPHALTIC
FLASHING FULL HEIGHT TO 6"
BEYOND JOINT EACH FACE,

FIBER CEMENT PANEL
SYSTEM BY NICHIHA

PANEL SUPPORT BY NICHIHA

FIBER CEMENT PANEL
SYSTEM BY NICHIHA

#10-12 T20W PAN HEAD SCREW

#10 FLAT HEAD SCREW

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 FURRING

AIR/ VAPOR BARRIERSHEATHING

FIBER CEMENT PANEL
SYSTEM (FCPS) BY NICHIHA

PANEL SUPPORT BY (FCPS) - NICHIHA

ANODIZED VERTICAL BEAD REVEAL
(BRV121) BY TAMLYN - XTREME TRIM

SEE PLANS
FOR WALL

TYPE

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

FRY REGLET A.15 INSIDE CORNER TRIM

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 FURRING

AIR/ VAPOR BARRIER

SHEATHING

SEE PLANS
FOR WALL

TYPE

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

#10 FLAT HEAD SCREW

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 STRAPPING

AIR/ VAPOR BARRIER

GAP, DO NOT CAULK

CONTINUOUS TAMLYN XTREME VSZ34 VENT STRIP.
http://www.xtremetrim.com/products-ventilation.php?i=4LINK:

ALUMINUM BRAKE METAL FLASHING

1/4" GAP BETWEEN FLASHING AND B.O. WALL PANEL

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

#10 FLAT HEAD SCREW

FRY REGLET A.2 J-CHANNEL TRIM

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 FURRING

AIR/ VAPOR BARRIER

SOFFIT OR CORNICE TRIM
3/8" GAP
CONTINUOUS INSECT SCREEN

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

FRY REGLET A.18 OUTSIDE CORNER TRIM

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 FURRING

AIR/ VAPOR BARRIER

SHEATHING

SEE PLANS
FOR WALL

TYPE

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

#10 FLAT HEAD SCREW

VERTICAL FRY REGLET A.3 TRIM

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 FURRING

AIR/ VAPOR BARRIER

SHEATHING

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

#10 FLAT HEAD SCREW

FRY REGLET A.13 DRIP CAP

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 STRAPPING

AIR/ VAPOR BARRIER

1/
2" GAP, DO NOT CAULK

FLOOR TRUSS
OR JOIST

SEE PLANS
FOR WALL

TYPE

#10-12 T20W PAN HEAD SCREW

#10 FLAT HEAD SCREW

HORIZONTAL FRY REGLET A.10 OR A.11 TRIM

FIBER CEMENT PANEL

1/16" THK. EPDM STRIP OVER PT STRAPPING

3/4" MIN. PT OR COR-A-VENT
SV-5 FURRING

AIR/ VAPOR BARRIER

 
1/

2"
 

SPACING

SEE PLANS
FOR WALL

TYPE

48
 U

ni
on

 W
ha

rf 
  P

or
tla

nd
, M

ai
ne

 0
4 1

01

(20
7) 

772
-60

22
AR

C H
ET

YP
E@

AR
CH

E T
YP

EP
A. C

OM

D
at

e:
Sc

al
e:

Pr
oj

ec
t:

A
rc

hi
te

ct
:

Co
ns

ul
ta

nt
:

Pr
ep

ar
ed

 F
or

:
Re

vi
sio

ns
:

 3
" =

 1
'-0

"

A5.03

EX
TE

RI
OR

 D
ET

AI
LS

-
SI

DI
NG

JU
LY

 21
, 2

01
6

LU
MI

NA
TO

16
7 

N
ew

bu
ry

 S
tre

et
  P

or
tla

nd
, M

ai
ne

N
ew

H
ei

gh
t G

ro
up

11
8 

Co
ng

re
ss

 S
tre

et
 #

40
1

PO
RT

LA
N

D
, M

E 
04

10
1

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
1 NICHIHA OUTSIDE CORNER

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
7 FC TO NICHIHA VERTICAL TRANSITION DETAIL

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
3 FC INSIDE CORNER

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
9 FC BOTTOM OF WALL DETAIL

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
6 FC DETAIL AT SOFFIT

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
2 FC OUTSIDE CORNER

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
8 FC VERTICAL TRANSITION DETAIL

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
4 FC W. HOR. TRIM AT FLOOR BREAK

0 0' - 3" 0' - 6" 1' - 0"0' - 1 1/2" 3" = 1'-0"
5 FC W. HOR. TRIM


	Sheets
	_CS1.1 - COVER SHEET
	A1.00 - BASEMENT PLAN
	A1.01 - FIRST FLOOR PLAN
	A1.02 - SECOND FLOOR PLAN
	A1.03 - THIRD FLOOR PLAN
	A1.04 - FOURTH FLOOR PLAN
	A1.05 - FIFTH FLOOR PLAN
	A1.06 - SIXTH FLOOR PLAN
	A1.07 - ROOF PLAN
	A1.08 - TAPERED INSULATION
	A2.01 - BUILDING ELEVATIONS
	A2.02 - BUILDING ELEVATIONS
	A3.01 - BUILDING SECTION
	A3.02 - BUILDING CROSS SECTION AND LOBBY SECTION
	A3.11 - ELEVATOR SECTION AND DETAILS
	A3.12 - STAIR SECTIONS AND DETAILS
	A3.13 - STAIR SECTIONS AND DETAILS
	A3.20 - WALL SECTIONS
	A3.21 - Wall Sections
	A3.30 - SITE SECTIONS
	A4.01 - WALL TYPES
	A4.02 - WALL TYPES
	A4.03 - WALL TYPES
	A4.04 - WALL TYPES
	A4.05 - WALL TYPES
	A4.10 - FLOOR, CEILING, ROOF TYPES
	A4.20 - INTERIOR DETAILS
	A4.21 - INTERIOR DETAILS
	A5.01 - EXTERIOR DETAILS - WINDOWS
	A5.02 - EXTERIOR DETAILS - WINDOWS
	A5.03 - EXTERIOR DETAILS- SIDING
	A5.04 - EXTERIOR DETAILS- SIDING
	A5.05 - EXTERIOR DETAILS
	A5.06 - EXTERIOR DETAILS
	A5.10 - DETAILS - GARAGE
	A5.11 - DETAILS - ROOF
	A6.01 - ENL. PLANS, INT. ELEV. UNIT 201 & 301, 203, 303, 403 & 503
	A6.02 - ENL. PLANS, INT. ELEV. UNIT 202 & 302
	A6.03 - ENL. PLAN, INT. ELEV. UNIT 204, 304, 404 & 504, 205 & 305
	A6.04 - ENL. PLAN, INT. ELEV. UNIT 206
	A6.05 - ENL. PLAN, INT. ELEV. UNIT 401
	A6.06 - ENL. PLAN, INT. ELEV. UNIT 402 & 502
	A6.07 - ENL. PLAN, INT. ELEV. UNIT 406
	A6.08 - ENL. PLAN, INT. ELEV. UNIT 501
	A6.09 - ENL. PLAN, INT. ELEV. UNIT 506
	A6.10 - ENL. PLAN, INT. ELEV. UNIT 601
	A6.11 - ENL. PLAN, INT. ELEV. UNIT 606
	A7.00 - RCP - BASEMENT
	A7.01 - RCP - 1ST FLOOR
	A7.02 - RCP - 2ND FLOOR
	A7.03 - RCP - 3RD FLOOR
	A7.04 - RCP - 4TH FLOOR
	A7.05 - RCP - 5TH FLOOR
	A7.06 - RCP - 6TH FLOOR
	A8.01 - DOOR SCHEDULE
	A8.02 - WINDOW SCHEDULE
	A8.03 - FINISH SCHEDULE
	AC.01 - CODE SUMMARY
	AC.02 - CODE SUMMARY
	AS1.1 - ACCESSIBILITY STANDARDS
	LS1.1 - LIFE SAFETY


